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15 minute time has been allotted to read this question paper. The
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10.30 a.m., the candidates will read the question paper only and will not
write any answer on the answer-book during this period.
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General Instructions :

Read the following instructions carefully and follow them :

(i) This question paper contains 37 questions. All questions are compulsory.

(it)  Question paper is divided into six sections — Section A, B, C, D, E
and F.

(iti) Section A - Questions no. 1 to 20 are Multiple Choice type questions. Each
question carries 1 mark.

(iv) Section B - Questions no. 21 to 24 are Very Short Answer type questions.
Each question carries 2 marks. Answer to these questions should not exceed
40 words.

(v)  Section C - Questions no. 25 to 29 are Short Answer type questions. Each
question carries 3 marks. Answer to these questions should not exceed
60 words.

(vi) Section D — Questions no. 30 to 33 are Long Answer (LA) type questions. Each
question carries 5 marks. Answer to these questions should not exceed
120 words.

(vii) Section E — Questions no. 34 to 36 are Case/Source-based questions with three
sub-questions. Each question carries 4 marks.

(viii) Section F — Question no. 37 is Map skill-based question with two parts —
37(a) from History (2 marks) and 37(b) from Geography (3 marks). This
question carries total 5 marks.

(ix) In addition to this, NOTE that a separate question has been provided for
Visually Impaired candidates in lieu of questions having visual inputs,
map etc. Such questions are to be attempted by Visually Impaired candidates
only.

SECTION A
(Multiple Choice Questions) (20x1=20)

1. Which one of the following regions became a part of unified Italy in
1866 ? 1

(A) Sardinia-Piedmont
(B) Venetia
(C)  Sicily
(D) Papal State
I 32/1/1 Page 3 of 27 P.T.O. I
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(B)  hicree™
(C)  areRl g
(D) TS hisst
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2. Read the following reasons of migration of people from Europe to America
till the 19th century and choose the correct option : 1

L Poverty and hunger
II. Slaves for sale
III. Wide spread of diseases

IV. Religious conflicts and persecution
Options:

(A)  Only I, II and III are correct.

(B)  Only II, IIT and IV are correct.

(C)  Only I, III and IV are correct.

(D) Only I, II and IV are correct.

3. The author of ‘Book of Marvels’ is : 1
(A)  Marco Polo
(B)  Columbus
(C) Vasco da Gama
(D)  Alfred Crosby

4, Assume you are doing research on 150 century print culture. Which of

the following would be the most significant advantage for your research ? 1
(A) Easier access to rare manuscripts

(B) Reduced need for libraries

(C) Increase in the ability to copy text by hand

(D) Increased speed and accuracy of print
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5. WA ¥ oI o (HATIRIA STt sl &het ohl gIoe © Herd 3T o Tad 7 o 9
ety HIT 3 T ey =1 = AR :
I  oTRfaa
1.
III.  3farffehd
e :
(A IILII I
(B) L 1II,III
(C) ILII I
(D) IIIL I, II

6. Giter o e Ffafaa 4 @ frg qsar d Rea 2 2

(A)  HET S
(B)  TSTEIH
(C) I
(D) HERTYE

Des

7. WY IH &Y I Fam HT 31 Tt faened 1 == il

@yl @y I1

(@) )
a Ts‘]’(l‘gl;‘s’ 1. S
b. T AR ii. o
c. TS ETR iii. e
d u= iv. HEMar
forerew :

(A)  a-iv, b-i, c-iii, d-ii
(B)  a-i, b-ii, c-iv, d-iii
(C)  a-iv, b-i, c-ii, d-iii

(D) a-i, b, c-iii, d-iv
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5. Arrange the following categories of forests in India from the largest to the
smallest in terms of area and choose the correct option : 1
I Reserved
II. Protected
III.  Unclassed
Options:
A  IILILI
(B) L IIIII
(C) ILIILI
(D) III I, II
6. ‘Sariska Tiger Reserve’ is located in which one of the following states ? 1
(A) Madhya Pradesh
(B) Rajasthan
(C)  Uttar Pradesh
(D) Maharashtra
7. Match Column I with Column IT and choose the correct option : 1
Column I Column I1
(Dam) (River)
a. Hirakud i.  Chambal
b. Gandhi Sagar ii. Krishna
c. Nagarjuna Sagar iii. Kaveri
d. Mettur iv. Mahanadi
Options :
(A)  a-iv, b-i, c-iii, d-ii
(B)  a-i, b-ii, c-iv, d-iii
(C)  a-iv, b, c-ii, d-iii
(D)  a-i, b-ii, c-iii, d-iv
Page 7 of 27
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8. T TNETRI E H M T ST § HaiTerd Hel forehed T =2 hiioig ;
(A)  FAIeH, B IR ARG
(B) TR, Flesh HIT Y TauT
(C)  TSRIE, HENISg S 7 YawT

(D) HRES, ATy axr K Afeam

9.  SheudT hifSre for g St 7 feect @ <idiTe w3l # smfiet g1 & forg, geeh wnt
YSTTR & | A1 o6 SR A Trfafiad 3 & -4 woe Tdl § e 8§ 9w 2

(A) =& (9H)
(B)  HemT
C) g

o

(D) SaR

10. AR RETCE | T AR (A) SR FR (R) 8 | ST HHT I AT T1GT

I T forehed T == HINT

HYFIT (A) ;WS TR S o 3 A e |

FRT (R) : Tt Gt It 1 @IS o ST el & |
forepea

(A) (A 3R (R) 3HI & & 3R (R), (A) I 98 A7 |
(B) (A) 3R (R) 3HI &&1 &, T (R), (A) I ¥ A 78T 2 |
(C) (A @&e, Wq(R) Tadz|

(D) (A Taq 8, W (R) T&l2 |
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8. Choose the correct option regarding major states involved in the
Krishna — Godavari issue : 1

(A) Karnataka, Kerala and Tamil Nadu

(B) Maharashtra, Karnataka and Andhra Pradesh
(C)  Gujarat, Maharashtra and Madhya Pradesh
(D) Jharkhand, Andhra Pradesh and Odisha

9. Imagine you are travelling from Delhi to Chandigarh to attend a

wedding, by road in January. Which of the following crops will you notice

prominently in the fields during the journey ? 1
(A) Paddy
(B) Maize
(C) Wheat
(D) Jowar

10. Two statements are given below. They are Assertion (A) and Reason (R).

Read both the statements carefully and choose the correct option : 1
Assertion (A) : Minerals are an indispensable part of our lives.

Reason (R) : Allliving things need minerals.

Options:

(A) Both (A) and (R) are true and (R) is the correct explanation of (A).

(B)  Both (A) and (R) are true, but (R) is not the correct explanation of (A).
(C)  (A)1is true, but (R) is false.

(D) (A)is false, but (R) is true.
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11. @Y I 1 &y 11 ¥ fre hife o7k wet fashed o1 == i :
Yl &y 11
(@t (7@ @)
a. e TIEh 1. e
b. ¥ i, Toe
c.  dfoTse iii. <EE
d. =R iv. B
frerea :
(A)  a-iii, b-i, c-iv, d-ii (B)  a-iii, b-i, c-ii, d-iv
(C)  aii, bii, e, d-iv (D) a-ii, bi, c-iv, d-i
12.  SfcSTan 3 370 SgHEHATE hi G 1 FHTEM Ffoiad § & forg Ter st wmaa
SHET h! g3 b foparT 2
(A)  UhIcHS (B)  TEIIIcHR
(C) HHTcHS (D) HESTHS

13.  TAfcTiiae o & wel gHieTd I i = hifvT ;

(@) (ST
(A)  FTET N ARiED
(B) defifeRm - HuTHe
(C) ofgfermr -  wwh
(D) T S PIR:ED

14. FHAIRET § 8 HIH-H TSI S o T 5 & 2 Tl faehed T =9 hiTg :
I. =t
II. drades
1.  Taefe
IV. GoTd g
frerew

(A)  FHad L II I ar e |
(B) e II, III 3 IV "e1 8|
(C) wHad L III 3RIV G&r )
(D) Haal, II IV &1 & |
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11. Match Column I with Column II and choose the correct option :

e T

Column I
(Minerals)
Iron ore
Mica
Bauxite

Coal

Options:

(A)
(&)

a-iii, b-i, c-iv, d-ii
a-ii, b-iii, c-i, d-iv

Column I1
(Major Mines)
Gaya
Singarauli
Chandrapur
Maikala

(B)  aiii, b, c-ii, d-iv
(D)  a-ii, b-ii, c-iv, d-i

12. Belgium solved its problem of majoritarianism by strengthening which of
the following types of government ?

(A)
(&)

Unitary
Federal

(B) Presidential
(D) Parliamentary

13. Choose the correctly matched pair from the following :

(A)
(B)
(&)
(D)

(Country)

Canada -
Bolivia -
Australia -

Spain -

(System)
Unitary
Federal
Unitary
Federal

14. Which of the following are the main components of a political party ?
Choose the correct option :

I. Leaders

II. Active members
III.  Followers

IV.  Pressure groups
Options:

(A)

(B)

(®);

(D)

I 392/1/1

Only I, IT and III are correct.

Only II, IIT and IV are correct.
Only I, III and IV are correct.
Only I, IT and IV are correct.
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15.  forva e foepme eehisr @ weiftrg Fwfeifad diforent 1 steem ifsig oK 3
S TR LU e I B R | S L
%9 |3 foa & w173 fareere

{;_f\dchIGhWPhHl"h

1 A 130
2 MR 148
3 ERIGH 149
4, | OTiREAE 150
faw 3=t # @, Fefctiad # & |1 a1 “He e gerehish § ITeaH €U W@d @ ?
(A)  UTfeREa (B) wRd
(C) AU (D) TIER

16. X’ U &%l H &1 & | I8 Gl oh! @l o HTY-AT WATe ff Far § | X w0 wR
rfeaTe & foh &1k o SFaTia T 2
(A)  wrafes B) fadas
(C) qdEs (D) =qd®

Al

17. feuwu foxr o1 SRaT 3T ek i< fou U U9 ht ST ST

Formr O forarm ST rett Rl Srelerareen o forg &5eh o SAdia AT g 2
(A)  wrafis (B) =g (C) fsdtoer (D) qEw

qe :  FHETCTRaT J97 FHact gleearieard TReTieral & o1g J97 68T 17 % €A W8 |
Freafefaa o @ foreent el srefereren & fediaes &5 o Arar e ?

(A)  TYEFRd qTeTeh (B) ®EHR
(C) 2Rl FFhT (D) #PAW
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15. Study the following table related to ‘World Human Development Index’
and answer the questions given below : 1
S. No. | Country HDI Rank in the world
1. India 130
2. Myanmar 148
3. Nepal 149
4, Pakistan 150

Amongst the given countries, which one of the following countries has the
highest rank in ‘Human Development Index’ ?

(A) Pakistan (B) India
(C) Nepal (D) Myanmar
16. X lives in a town. He cultivates flowers along with animal husbandry.
The work of X’ will fall under which sector of the economy ? 1
(A)  Primary (B) Secondary
(C)  Tertiary (D) Quaternary

17. Look at the given picture and answer the question that follow :

The work being done in the picture falls under which sector of the economy ? 1

(A)  Primary (B) Quaternary (C) Secondary (D) Tertiary

Note: The following question is for the Visually Impaired Candidates only,
in lieu of Q. No. 17.

The work of which of the following comes in the secondary sector of the

economy ? 1
(A) Bee-keeper (B) Moneylender
(C) Basket weaver (D) Fisherman

I 32/1/1 Page 13 of 27 P.T.O. I



18.  umhur &= # feramt o foTu el St & SwoT AT g @ & Siar § 2 Fefefea
TN b UTST T Ger SUFeH forshed b1 =13 hiTT :
I. U <hl 39T
II.  Sifee ufshan
III. =07 & STaal ANTd
IV.  SIT&hdT &Rl 39T
e :

(A) AL, I1 I T8 |
(B) Aot I, III 3R IV TErd |
(C) FHaad L II IV T )
(D)  Fad L, I RIV TEr & |

19.  9Rd % wedt &t # freforfiaa o & iH-61 g9 A ol hi STaeehdial sl gl H
o g srroenfe |l w it 2

(A) TOFIRER

(B) &Y HUT aTel UNER

(C) M, TS 3 1wl aret uier
(D) 3, THE 3R FH HURT dTel TRAR

20. 31 e 1w I1 foU ¢ & | ST el Rl eHYEeh Uigy I Wl foashe o e
FHifeT
o1 : SRt § e It JeeieRtor st SfsRaT S I i ATl T T
FFE |

9 11 : 38 sl gt ook SRl ol diisrar STTqfdt bl | AT T wvi foram @ |
ferepeu

(A) e I3 IT T HEl € SR o 11, 2 1 i el e e |

(B) & I 3R II GHT HET &, TG o 11, o [ o1 9el e 987 € |

(C) U [ HEl®, U o 11 e € |

(D) o 171eTd &, 9 e 1T Wel € |
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18. Why does it become difficult for farmers in rural areas to take loans from
government banks ? Read the following reasons and choose the most

appropriate option : 1
I. Lack of collateral
I1. Complicated procedure

III.  Higher cost of borrowing

IV. Lack of awareness

Options:

(A)  Only I, II and III are correct.
(B)  Only II, IIT and IV are correct.
(C)  Only I, II and IV are correct.
(D)  Only I, IIT and IV are correct.

19. Which of the following groups in urban India depend on informal sources
to meet their credit needs ? 1

(A)  Poor households

(B)  Households with few assets

(C)  Both poor households and households with few assets
(D)  Both well-off households and households with few assets

20. Two statements I and II are given below. Read both the statements
carefully and choose the correct option : 1

Statement I : Rapid improvement in technology has been one major
factor to stimulate the globalisation process.

Statement II : This has made much faster delivery of goods across long
distances possible at lower costs.

Options :

(A) Both statements I and IT are correct and statement II is the correct
explanation of statement I.

(B) Both statements I and II are correct, but statement II is not the
correct explanation of statement I.

(C) Statement I is correct, but statement II is incorrect.

(D) Statement I is incorrect, but statement II is correct.
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21. (F) VR H ‘IYFF TR % 8T | IuHaRTaE et tidier ht fieer
TqeE HIT | 2

3TAdT

(@) TS o A e o HATE dl & HATCHS & ? 3T qeh aoht T8 HITST | 2

22.  HETEA % STUTHY ITANT o HROT Ieu “Afvareh ariirerfersht st fopeel ar weanat
ST HIRNT | 2
23.  fiieh STHHTAT %! G hL o IS &l 3T G | 2

24, WA H 1990 % 31 H Y& shl TS IS ohl TTshAT A oy Tepr Azellehor l sigra
T 2 Tse Sifew | 2

Qus T

(Y- T9) (5x3=15)

25.  “ATeATE foRETT 3§ WETCHT Tt o TaxT 3R Tqusy & fo=m &1 F© 3R & waas
T |7 3TH=ANT 3TieIA o Hew § 3 ey hl ATEdT hifST | 3

26. = s FemT ol Ul 7K 36k = fou T gom &1 S i -
e &t swer

T o1em o T o aTedl & § 7 URER % 61 T B¢ M | Wl § | 98
39 INER % TSR T T {1 o gohs W I ITEdT ohi FHTeoht I JCTThL |1 Hid
TG AR HT ST FAT € | T8 T THER o T o T 16 o A1et G |Hiq
% T ¥ U AR 310 G ot Rfra sw o werEdr it @ | 97 e aReer @
T T & 3R S qoh €9 B 81 TeAT AT @ | 0 39 BIeT Sl ! 370 T H
firgh ol Tredl 3ear o o § o Wi vdT T & Fordes HROT 36k TNER i 37T a9 A
9T % Zohg shl qetTeT AT Bt |

i &7 9RaR fhg JHR F Tl = @1 8 ? 3TF! fF-al o fauyaren & qufq
HIfor | 1+2=3
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SECTION B
(Very Short Answer Type Questions) (4x2=8)
21. (a) Explain the role of anti-colonial movement in the rise of ‘modern
nationalism’ in India. 2
OR
(b)  Why did Gandhiji say ‘Satyagraha is pure soul-force’ ? Explain by
giving two arguments. 2
22. Explain any two problems of the ‘global ecology’ arising due to
indiscriminate use of resources. 2
23. Suggest any two measures to remove gender inequality. 2
24, How did the process of liberalisation initiated in India in the 1990s,
promote globalisation ? Explain. 2
SECTION C
(Short Answer Type Questions) (6x3=15)
25. “Tribal peasants interpreted the message of Mahatma Gandhi and the
idea of ‘Swaraj’ in yet another way.” Explain the statement in the context
of Non-Cooperation Movement. 3

26. Read the story of Rinjha and answer the question that follows :

Story of Rinjha

Rinjha lived with her family in a small village at the outskirts of
Diphu in Assam. She enjoys watching her family members clearing,
slashing and burning a patch of land for cultivation. She often helps them
in irrigating the fields with water running through a bamboo canal from
the nearby spring. She loves the surroundings and wants to stay here as
long as she can, but this little girl has no idea about the declining fertility
of the soil and her family’s search for a fresh patch of land in the next
season.

What type of farming is Rinjha’s family doing ? Describe any two of its
characteristics. 1+2=3
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27. “I8 AhditIch IO ALT A3t A STt & o 1fres--31feres Amiieht
Tsifereh T H TeERQT ST ST |7 SUFAd doh! Hied 36 Ho shl SATEAT TS | 3
28. (F) Alhdd H USHITH gl o HETT oh! HTEAT ShITSTT | 3
3TAdT
(@)  RA - Sgacid HAEAT i R SIATAT ? IFord qohi Al SATEAT HITVT | 3
29, N TIGATYT & HAST(=eh Ua Fsft &ifeh B 7T bl ISTeX0T Aled Tuse HifT | 3
Qs Yy
@rd-3wa a9 (4x5=20)
30. (%) RIEH FTEAT H THETA AN FHIA S H AN diedr & qew &l
fereereor hifew | 5
AT
(@)  S~gdl Hat % JESAT G2t # FUT § IIRATE fohd T TR TehaT & [T
TIT T 2 ToReiyoT HITIT | 5
31. (&%) “fafmior s ot 391 & e fomema 1 g omel Sd € 17 39 U A
TIETd 38UsT | 5
3AAAT
(@) T AT JENT Teh-THL o T & | 58 2 ! =ATIET ST | 5
32. (%) Ikl o UTOTHT T eioh oL ATt foheal il ST ohi ST Shifery | 5
3AAT
(@) T o foheal Ui 7ol shi SATEAT shifsq | 5

33. (%) “BIA % THIU A & foh 92 o Hg AN H ST STt kT 3T IWATT ok 71
Hehe ST ST T&T © |7 fohre o amofiadT & e # 36 o 1 qodish

IS | 5
AT
@) Tl 2uft & AT o foehre o qed e 81 Wk § |7 36 T 1 o
HifSTT | 5
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27.

28.

29.

30.

31.

32.

33.

#
“That democratic system of government is considered good in which
maximum number of citizens are made stakeholders in political power.”
Explain the statement with suitable arguments. 3
(a)  Explain the importance of political parties in democracy. 3
OR
(b)  Why did India adopt the multiparty system ? Explain with suitable
arguments. 3
Explain the difference between public and private sector of Indian
economy with example. 3
SECTION D
(Long Answer Type Questions) (4x5=20)
(a)  Analyse the significance of the ‘Napoleonic Code’ in making the
administrative system rational and efficient. 5
OR
(b) How was liberalism allied to national unity in Europe in the early
decades of the 19th century ? Analyse. 5
(a)  “Manufacturing industries are considered the backbone of the
economic development of a country.” Justify the statement. 5
OR
(b)  “Agriculture and industries complement each other.” Justify the
statement. 5
(a)  Explain any five bases for assessing the outcomes of democracy. 5
OR
(b)  Explain any five values of democracy. 5
(a) “Recent evidence suggests that overuse of groundwater is
becoming a serious threat in many parts of the country.” Evaluate
the statement in the context of sustainability of development. 5
OR
(b)  “The development goals of different categories of people may
differ.” Evaluate the statement. 5

I 392/1/1
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34. TRumuaEd ® ufey 3 e A= fou mu e o 39w difsre
fiire ot ufdeer

AfSd T7og shl dTehd T TS HHEL TLHI G I8! (BT e At wifren @
firetar & | W & sfafrafies emee s qum fRaret ST w-athTsTt Ut TSR e
o7 T S O {23007 T o oI sIga-/ s i et o |

T forea g o S, TRaT T&fT 2w o qed, 22 ST i SHa ot aey of |
TTH U 18 7 FHRT ST A T STE TS b i3 T o1 3fere qoretm | Feae o et
T v |ifd 4 1919 # fafir steeml & faers AT anfe swarsat ek
T o1 T | Teeftar fomar 3 oht 3[eetTd o, Wik e stferferm i fopar e, anfer
Fg-weelt foat st Ter fopam ST He | ITRE SISl S & e a0 U 36t & d8d
GOz Bt off | ST 1942 W qehtis 90 TSR b7 A foham 74T |

(34.1) TG =T 37 Tqe2 AT | 1
(34.2) 3Tafaf3Tes yemae fhare ST g=7-ufehTstl Ut It Tsi T o 2 1
(34.3) TITEfST 7 TeTe Te o foreg, SxreATdt e Rt 1% foram 2 foreel &1 ot i
TS FHITIT | 2
35. feuwwu a1 ufew it 3w i fw e gt & s i -
ST IET T Teh TANT

SITSiieT o ITEL it Tetdt 3 forshelienor 3 ATiceht st afsher wrfiert aret efiehd= &
T T Ueh faeTeqor ST foram 8 | 39 91eT o TR-Ufue & gHiaT Ueh died @ fohar
T 37T AU T o R | ALk ot i ot SRR T Farfemt =t feam man
21 39 T 3 S 13 ARG AN 3T ITeX T SI9ie AR hid § WIfeit ohid § | S8t T
3 IU-EA | ST T R — I 39 @ R 2w 91 #ed § | W osu-a iy
- F3h Bt & Torent T&w 7w qaT Y HE R ST 36 39 3o & aft
AR AT o W & | T, F© §3% X TeX I T T aTel qel W aidl & 37
IH T T I3 ot AT 9T o TehdT © | SHH IEX & SIelc W <! Bidt & | $6eh a8
S ST ShT TRATeAehT o TH- U7 foham STrar & it 3ifaw haem ot 2 |
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SECTION E
(Case/Source-Based Questions) (3x4=12)
34. Read the given source and answer the questions that follow :

Print and Censorship

The power of the printed word is most often seen in the way
governments seek to regulate and suppress print. The colonial
government kept continuous track of all books and newspapers published
in India and passed numerous laws to control the press.

During the First World War, under the Defence of India Rules,
22 newspapers had to furnish securities. Of these, 18 shut down rather
than comply with government orders. The Sedition Committee Report
under Rowlatt in 1919 further strengthened controls that led to imposition
of penalties on various newspapers. At the outbreak of the Second World
War, the Defence of India Act was passed, allowing censoring of reports of
war-related topics. All reports about the Quit India movement came under
its purview. In August 1942, about 90 newspapers were suppressed.

(34.1) Explain the meaning of ‘censor’. 1

(34.2) Why did the colonial administration keep an eye on books and
newspapers ? 1

(34.3) Why did Gandhiji start a nationwide Satyagraha against the
Rowlatt Act ? Explain any two reasons. 2

35. Read the given source and answer the questions that follow :
An Experiment in Brazil

A city called Porto Alegre in Brazil has carried out an
extraordinary experiment in combining decentralisation with
participative democracy. The city has set up a parallel organisation
operating alongside the municipal council, enabling local inhabitants to
take real decisions for their city. The nearly 13 lakh people in this city get
to participate in making the budget for their own city. The city is divided
into many sectors or what we call wards. Each sector has a meeting, like
that of the gram sabha, in which anyone living in that area can
participate. There are some meetings to discuss issues that affect the
entire city. Any citizen of the city can participate in those meetings. The
budget of the city is discussed in these meetings. The proposals are put to
the municipality that takes a final decision about it.
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(35.1) ‘G Aok o 37 o] T hIfNT |

(35.2) wiferqal o dean & ged A, fear T et fore Yehr Y wme yured) SR
RTINS SHTAT & ?

(35.3) SISt % I IATEX0N § ST T[Tt W hl SHET o ST T Ui

i |

36. feuTu I #r ufey 37 3ue A= few e v % I e
TEHIT TiFferat & 0T

SRt o STTAT TTHIT &35 T T 0T 3T Uoh 3171 W | Heshil affaa ¢ |
HEhRT AT h TG ST HHTIA S FD &A1 § HEAT AT T A § | S TR
! ekt AfHfcrl dver €, S — fopar, SRl Ul STTenfieh Tsigll Seatte 2l Heshtdl
wftfeat | Fweh wERr Wfd @R F A5EE T T § HW F ¥ | 3
2300 ToFET FeE & | I8 37T AT & STHT TS T & | 56 STHT Uit T ROTIR AT
T, T HEHRT WA o oo & ST 01 AT TR & | 390 ST ohT STl Hawall ol st
& o T forarm SITT @ | 38 0T ATe o ST st T g8 G [ TR ST Hehall € |

Uk TEHRT HIHTT HTY YR BRIGH, Wl TAT HiY SATIR A, TS Tohe, =X
S 3R 317 forfir=T werm 3 it ok foTg eor e st 2 |

(36.1) TEshrt AiFfaRt sor % fohe |id & Siaid o1t & 2
(36.2) Wesh Wit 1 st 3 fredl 21w 1 Seora | LI,

(36.3) ToruT ot 31 ffeg H weerrl witrferat st wifHent 1 Tase shifSry | 2
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(35.1) Explain the meaning of ‘participatory democracy’. 1

(35.2) In the context of separation of powers, the given example defines

which type of government ? 1

(35.3) Describe the structure of the system in India which is almost

similar to the above example of Brazil. 2

36. Read the given source and answer the questions that follow :

Loans From Cooperatives

Besides banks, the other major source of cheap credit in rural
areas are the cooperative societies (or cooperatives). Members of
a cooperative pool their resources for cooperation in certain areas. There
are several types of cooperatives possible such as farmers cooperatives,
weavers cooperatives, industrial workers cooperatives, etc. Krishak
Cooperative functions in a village not very far away from Sonpur. It has
2300 farmers as members. It accepts deposits from its members. With
these deposits as collateral, the Cooperative has obtained a large loan
from the bank. These funds are used to provide loans to members. Once
these loans are repaid, another round of lending can take place.

Krishak Cooperative provides loans for the purchase of
agricultural implements, loans for cultivation and agricultural trade,

fishery loans, loans for construction of houses and for a variety of other

expenses.

(36.1) Cooperative societies come under which source of credit ? 1
. . . e 1 1

(36.2) Mention any two sources of capital of cooperative societies. 7 +§ =1

(36.3) Explain the role of cooperative societies in increasing the income of
farmers. 2
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(AT ShIITeA-SATATRA o) (2+3=5)

37. () WRA % 4TI TSk WET-AHRE (T53 27 W), § &1 TIHT & A’ 3TRB’ &
&Y T 3ifera forar mor 7 | Ffafea smert & gemar @ 3% ggenfie ofit
3ok TR AT 3ok AT il 78 wa@retl W fafan : 2x1=2
A, TEEIE TR 1920 § TRATT TS i h ST g7 o7 |
B. o8 TN S8l @ sl 3 3t Al ot gestd 6t off |

e : [HFTCTRad J9 Shaet greaTiera GRierTierat & 1o7Q o7 6631 37 () % €A W E |

@) () 3T & AW faRay SEt 1920 T IR TSS9 1 AfheEE
g e |

(i) 38 A %1 AW fAfla st @ il 4 giet arel o AT A oAt | 2x1=2

(@) WRA o ST TSR WET-AT 5, Ffoiad § § foheet @i i Sugad ra!
Y TS 37N 37k 1 forfae - 3x1=3
(1) ST 3cuTeT | T TS
(i) Torra H feord qeaTyy St ER
(i) TGS H Reud e Te-3eTa
(iv) 7% T e it il oy uee

qe :  FHfREd T Faa gigaTtera gdteiera & fo7q 537 & 37 (W) & € WE |
@) gt a7 391 & SR T | 3x1=3
(1) ¢ 3eTEd § ST TS HT AW ARG |
(i) 38 TN o1 A ARG STl TSI # Ty it 63 e € |
(iil) 38 T 1 T fARaT SEf e # die-geurd Wi R 1 |
(iv) 39 ¥ o1 AW fARae sttt 16 1w e St sfasdia ary oo ferd
g
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SECTION F
(Map Skill-Based Questions) (2+3=5)

37. (a) Two places ‘A’ and ‘B’ have been marked on the given political
outline map of India (on page 27). Identify them with the help of
the following information and write their correct names on the
lines drawn near them : 2x1=2

A. The place where the session of Indian National Congress
was held in 1920.

B. The place where Gandhiji started Dandi March.
Note: The following questions are for the Visually Impaired Candidates
only, in lieu of Q. No. 37 (a).

(a) (1) Name the place where the session of Indian National
Congress was held in 1920.

(i1) Name the place where Gandhiji started Dandi March. 2x1=2

(b)  On the same political outline map of India, locate and label any
three of the following with suitable symbols : 3x1=3

) Leading state in production of Jute
(i1)  Atomic Power Plant located in Gujarat
(iii) Iron and Steel Plant located in Jharkhand
(iv)  Sri Guru Ram Das Jee International Airport
Note: The following questions are for the Visually Impaired Candidates

only, in lieu of . No. 37 (b).
(b) Attempt any three questions. 3x1=3

1) Name the leading state in production of Jute.

(i1) Name the place where an Atomic Power Plant is located in
Gujarat.

(iii) Name the place where an Iron and Steel Plant is located in
Jharkhand.

(iv) Name the place where Sri Guru Ram Das Jee International
Airport is located.
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